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Which graph represents the solution set for the expression ½2x + 3½  > 7?

 

The graphs of the equations y = 2x and y = -2x + a intersect in Quadrant I for which values of a?

(1) 0 < a < 1 
(2) a < 1 
(3) a ≥ 1
(4) a > 1
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Given: ΔABT,  , and  ^  

Write an indirect proof to show that  is not perpendicular to .

As shown in the accompanying diagram, two tracking stations, A and B, are on an east-west line 110 miles
apart. A forest fire is located at F, on a bearing 42° northeast of station A and 15° northeast of station B.
How far, to the nearest mile, is the fire from station A?

 




